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Steps

1. Find yearly death rate k |qx which is equivalent to P (K = k)
for k = {0, 1, 2...}

2. Set up a table to help with the equivalence principle:

2.1 First column - the yearly death rates calculated above k |qx
2.2 Second column: discount rates: vk+1

2.3 Third column: $1- annuity payments (certain)
..
aK+1 = 1+ v

1 + v2 + ...+ vK

2.4 Fourth coulumn: $1 - life time assurance benefit: vk+1 k |qx

-the sum all values gives
∞
∑
k=0

vk+1 k |qx which is the expected

value of the benefit outgo.
2.5 Fifth column- life time annuity (take into acount the expected

future lifetime): multiply first column to third column- the

sum all values gives
∞
∑
k=0

..
ak+1 k |qx which is the expected

value of the income
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